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Section A (10 x 2 =20)

Answer all the questions.
1. What is Compound Interest?
() GUL lg GTETMmTeD GTETeE ?
2. What do you mean by Sinking Fund?
PG Bl eramuger Qummer wrg ?
3. Write the meaning of Logarithms.
DL &M GTTLIGE CLIMHENET 6T(LSIs%.
4, Change into logarithmic form : a° =1.
Lses auigefe wrpms : a’ =1.

5. What is finite set?

QU TIMISSLILIL L SEOTLD 6TGIMITE) GTEITEN ?



10.

11.

What do you mean by Venn diagram?

Qleuesr eSleméaLiL LD eTemligem ol LImmeT wimg)?

Define Probability.

HlEDPSH6| euanTum.

Find the probability of drawing a Spade queen from a
well shuffled pack of 52 cards.

BaT@ S&sLLLL 52 s (Hser Gamar @@ slge vGu(
queen lenL_LiLgparar Hlapsseilamen sarsdl(Hs.

What is Binomial Distribution?

FFIBMILIL] LITGUGD GTEITMITE) 6TGITEDT ?

State any two characteristics of Poisson distribution.
umdgner ugeuadler Splidwayseailes gCsaub @) e iqaner
M.
Section B (5 x 5=25)
Answer all the questions.
(a) At what interest rate will Rs. 75,000 yield Rs. 3,500

as Simple Interest in six months?

. 75,000-g 6 wrsBsERHSE Safleully papulled
gl  Celuwybd  Qumreg @ 3,500 eligurs
QUIDEUITPG iF6m el g @ﬁgl_b wirg) ?

Or

(b) What is the Present Value of Rs. 50,000 to be
received after 10 years at 10% compounded
annually?

ep. 50,000-5 10% ey aissHedy 10 eu@pLhsEnsHd@
9w @ uBLESIHDE @mEpan dal L LILHLEUTIYE 1Hem
sHCUTensW UL wrg?
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12.

13.

14.

(a)

(b)

(a)

(b)

(a)

Find logg 25 given log;, 2 = 0.3010.
log,, 2 =0.3010 erefled logg 25 -o3 savrsd (Hs.

Or
Prove that log, x. log, y. log, z=1.

log,x. log, y. log, z=1 erenugeer HlepYss.

If U={0,1,2,34,5}, A={,1,2} and B=1{2,4}.
Prove that

() (AUBY=A'NB

(i) (AnBY=A"UB.

U=1{,1,2,3,4,5}, A=1{,1,2} wpmb B =1{2, 4}
() (AUBY=A'NB

() (ANnBY=A"UB e flepdés.

Or
If A={,23,4}, B=1{3,4,5,6} and C={1,5,6,7, 8}
verify that Au(BNC)=(AuB)Nn(Au().
A=1{,2,34}, B=1{3,456}, C=1{,561,8}
AuBnNnC)=(AuB)Nn(Au() GTGUTLIGENGOT

Fur &5.

Two dice are thrown, what is the probability of
getting the sum being 8 or the sum being 10?

@Qrerr(h useLsmer  eiFlULLG, Seupdler gmHHD
8 g smbsed 10 s QmuughsTer blspssedemer

SETES (H .

Or
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15.

16.

(b) If PLAnB)=0.3, P(A)=0.6, P(B)=0.7, find the
value of P(B/A).

P(AnB)=0.3, P(A)=06, P(B)=07 eaid
P(B/A) -5 sansd s

(a) A normal distribution has mean = 20 and standard
deviation = 10. Find area between x =15 and
x =40.
@m Queourer ureder sl () gyreml = 20, S
assd = 10. x =15 wombd x=40 QendHE

@eLCuwrer uFliLeTe6 SaTddl(ha.

Or
(b) In a Poisson distribution 3P(X =2)=P(X =4).
Find the parameter ‘m’.
e umismer ureuedled 3P(X =2)=P(X =4) oger

m-an SjeTenelem &ersd (he.
Section C (3 x 10 =30)
Answer any three questions.

The difference between true discount and banker’s
discount on a bill due after 6 months discounted at 6%
per annum is Rs. 27. Find the True Discount, Banker’s
Discount and the Face Value of the Bill.

6 g geumaTsETOL eUHLSSDE 6% SerEpuly 564850
o etem @@ Q@Qrfdear o awmend  SETEHUGGGL  eumdwifen
SeTEBLIGHEGLD o drer  elsHwned eh. 27 ops @ rEden
2 T SET@HLIGeMWWD, eumSlul  FeT@hLIgemWud HmILD

<ps Qrédern (pswHilmenyd sarsd(hs.
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17.

18.

19.

Show that :

16 25 81
log2 +16log— +12log— +T7log—=1.
& g15 g24 g80
16 25 81
log2 +16log—+12log—+T7log— =1 7
og og T og 24 og 20 GTEITLI S G0 60T

HlemL9 .

In a certain city, 3 daily news papers, the ‘Times’, the
‘Express’ and the ‘Daily’ are mainly read. 42% of the
literates from the city read ‘Times’, 51% read ‘Express’,
68% read ‘Daily’, 30% read both ‘Times’ and ‘Express’,
28% read both ‘Express’ and ‘Express’ and ‘Daily’, 36%
read ‘Daily’ and ‘Times’ and 8% read none of these
papers.

Find the percentage of people who read all the three
newspapers.

e GOl psrsde HarbCsmmid ‘eLibev’, eréavilyen
oHppb  Créde) »du Ceudsrasamer  Gygrarons
U sSlemnar . oibs BaEIsHe Ligsseu safler 42 gg68dlss5S e
eLbev  praflgempuyd 51 sseldlssdler er&evLlyen
prefigeppuid, 68 sgadlgsdar  Gieel mraflganpubd
ugsdlerper . 30 Fgailflgsdear  enLbev LHMID eTHELLT6D
prefigenpud, 28 ssellflgsdlear ersavildyen LHMID 666
prefigenpuid 36 sgeidlgsdear  GLeedl wOHMD L Lbew
prefigenpuid, 8%  sseilflgsdler bg  preflgenipu|d
ugludleeame. epearm  Celdlgrarsameryd  UigliLe HenerT

585580 @HDILLAHS.

Three coins are tossed simultaneously, find the
probability that

(a) No head

(b) One head

(¢) Two heads

(d) Atleast two heads

(e) Utmost two heads appear.
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20.

gperm  prevrwmsar @Cr Crrsded e lin@dng. SCup
GO L enels@ns@ Hlspssaiamar samsd(hs.

() SDOGHET DHDODTHENE

() R0 s LLEW

(@) @ren® s G

()  G@DBSULSD Qe SeSHET

(20) @dlsulsbd @ramh sameser @L b Cup Ceuemr(HIb.

Fit a binomial distribution for the following data and find
the expected frequencies.

X 0 1 2 3 4
f 18 35 30 13 4

Gemeumd  efleurmhs@hs@ — FHHLUY  Urelme  CQummss,
Td UT H@D dmebeiamTaEamer Hardd(hs.

X 0 1 2 3 4
f 18 35 30 13 4
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